HIMACHAL GRAMIN BANK CLERK 17 -01 - 2010

Previous Question Paper

REASONING ABILITY

i
1.In a certain code OMNIBUS is writ-ten as SUBINM&@ow is TROUBLE written in that code 2 (1) ELBU?R'I: (2)
ELRTBOU (3) EBOURLT (4) ELBTROU (5) None of these
2. How many such pairs of letters dnere in the word CORPORATE each ofiethhas as manly letters betweén them
in the word as in the English aiphabet ?
(1) None (2) One
(3) Two (4) Three -
(5) More than three F 2
3.1n a certain code BOND is written &©35' and DAZE is written as ‘5@ 7Plow is-ZONlHE writtenHn that code ?
(1) 2073 (2) 7©23 h
(3) 7©32 (4) ©723 /“' -
(5) 2037 f |
4.1f it is possible to make only one meaningful word with the|first, Second, fifth, and sixtts lefteahe word
'EDUCATION', which would be the last letter of the worditire than ohe such word can be formed, give X as the
an-swer. If no such word can be formed, give K as your answera(l) 2)X
(3YAM@4)E /l
(5) K J r

5.How many such digits are there in the number 5269183 each of-which‘is as far away from the begineing of th
number as when the digits are arranged in de§cepding order Witl‘l}n the number ?
(1) None (2) One i I
(3) Two (4) Three . | ¢
(5) More than three {
6. Ronan walks a distance of 10 km towards North, then tums to his left and walks 20 km. He agagft amdsaalks
10 km and then, he takes a right turn and walks 5 km. How far he is from the starting point ?
(1) 10 km (2) 20 km
(3) 30 km ' (4) 25 km -
(5) 15 km {
7.1f'Q' means 'B' means V, A' means [4' and 'F' meatised -12 B 20 A 4 Q10F30.=7?(1) 60 (2) 80
(3) 70 (4) 90
(5) None of these
8.The positions of the first and eighth digits of the bem92753481 are interchanged. Similarly, the positions of
second and the seventh digits are interchanged and so oh, aftie following will be the fifth digit to the left of
the second digit from the right end after the rearrangement ?
1)8(2)2 T Y
3441 I
(5)3 .
9. What sheuld come next in the following letter series? ZY XWTZYXWVUZYX WV ZY XW
LHViIY I
3z@u
(5) Nohe of these
10.'GJ' is related to 'MF in the same way as 'QT is related to__.
(1) WZ (2) WY
(3) VZ (4) VY
(5) VW
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Directions (11 - 15) Study the following Information carefully and answer the questions given below :
P, Q, R, S and T are five friends who travelled to fiiféerent cities -Dehradun, Jaipur, Chandigarh, Rajpur, and
Bengaluru by three different modes of transport - train, aeroplane, and car from Delhi not nedagbarifame
order. Out of the three modes of transport, two modes have been used for by at most two persons.
Aeroplane has been used as a mode of transport only by the person who travelled to Bengaluru. T went to Jaipur
by car and P went to Chandigarh by train. One who travelled by train didn't
go to Dehradun. Q travelled by train whereas R travelled by car.
11. Which of the following combina-tions is true for Q ?
(1) Chandigarh - Car "
(2) Jaipur-Train {
(3) Dehradun-Train F.
(4) Jaipur - Car {
(5) Raipur-Train f -
12. Which of the following combina-tions of person and mode is cor-rect?
(1)T-Train
(2) P - Car
(3) R-Aeroplane ;
(4) Q- Car d { ;
(5) S-Aeroplane ' {
13.The person travelling to Dehradun went by which of the follewing medes ?
(1) Train /
(2) Aeroplane / |
(3) Car | |
(4) Data inadequate / '
(5) Train or Car {‘j
14.Who among the following travelled to Dehradun ? | P
LHT@S —
(R (AP ! f
(5) Data inadequate .
15.Which of the following combina-. tions ovaIao‘é and mode is not cor-
rect ? <
(1) Chandigarh-Train |
(2) Raipur-Car -
(3) Jaipur - Car
(4) Bengaluru - Aeroplane =«
(5) Dehradun-Car {
16.There are seven persons up on a.lladder A, B, C,D, E, Fand G. Ais above E by three steps butas lomgiCGh
B's position is exactly in the middle. G is in between A and B.in between B and F. Who is on the bottom step of
the ladder ?
(1)D(@)B “ 4
B F@E

()G “4 )
Directions (17 - 19} Eaciw of the questions below consists gfias-tion and two Statements numbered | and Il
given below it. You have to de-cide whether the data provided in the Statements are suffarientdr the
question. Read both the Statements and—

Give answer (1) :if the data in Statement | alone are sufflciemtanswer the question, while the data in
Statement Il alone are not sufficient to answer the question.

Glj\/e answer (2): if the data in Statement Il alone are sufifiti¢o answer the question, while the data in
Statement | alone are not sufficient to answer the question.

Give-answer (3). if the data in Statement | alone or in Statemkalone are sufficient to answer the question.

Give answer (4). if the data in both the Statements | and Il are not sufflcient to answer the question.

Give answer (5). if the data in both the Statements | andgedther are necessaryaonswer the question.
17.How many children does L have?
I. E has only two sons.
II. E, wife of L has only" one daughter.
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18.0n which day of the month is Asha's birthday ?
I. Asha's brother correclly remem-bers that Asha's birthday is af-ter 20th but before 25tharftthe m
II. Asha's sister correctly remem-bers that Asha's birthday is only after 23rd of the month.
19. What will be the total of numerical vaa of the letters of the word 'FADE' ?
I. Ais substituted by 1, B by 2, C .by 3 and so on.
Il. B, D, F, H and so on are substituted by even numbetsisgawith 2. Also, A, C, E, G and so on are substituted
by odd numbers starting with 1.
20.1In a certain code language, 'sing-ing is appreciable’ is wagécol Up mot'; 'dancing is good' is written as 'mot nik
min' and 'singing and dancing' is written as 'tip mop nik'. How is 'good' written in that code Ianguage ?
(2) mot (2) min (3) nik(4) Data inadequate(5) None of these {
&
Directions (21-23): Study the following Information carefully and answer the questions given below. 4
There are seven books, one each on Psychology,,Hindiish, Sociol-ogy, Econom:cs Education @nd Ac-
countancy lying on a table as a StaSkciology lies on top of the Stack. Ac-countancy islimmediately below Edu-
cation, which is just below Sociology. Economics is immediately above Psychology, but is not exactly in the middle.
Hindi is immediately below Psychology.
21.Which three books are between Accountancy and Hindi ? :
(1) English, Economics and Psychology 4 { A
(2) Economics, Psychology and Education ' {
(3) Economics, Psychology and Hindi /ﬂ' -
' (4) Data inadequate (5) None of these /
22.Economics is in between which of the following books ?/ |
(1) Accountancy and Education i |
(2) Psychology and Hindi J '
(3) English and Psychology {‘j
(4) Psychology and Sociology | P
(5) None of these ——t
23.1f only the positions of Sociology and English,. Aaotancy and Hindi and Education and Psychology are
interchanged, which book will be between Ps ch'blogy and Sociology ?
(1) Accountancy (2) English (3) Hindi (4)§co omics
(5) None of these
Directions (24-29) In each of the ‘quiestlons below are givenrfStatements followely three conclusions
nimbered I, Il and IIl. You have to"take the given Statemtenbe true even if thegeem to be at variance from
com-monly known facts. Read all the conclusions and then decide which of the given conclusions logicadly follo
from the given Statements dlsregardlng com-monly known facts.
24. Statements:
All flowers are petals. All petalare boxes. All boxes are buitgjs. All buildings are trucks.
Conclusions:
I. Some trucks are boxes.
[l. Some buildings‘arg, petals.
[ll. Some boxes are flowers.
(2) Only I follows i
(2) Only I and Il follow f
(3) Only I and 11l follow |
(4) Only Il-and 11l follow
(5) AlL1, 1l and 11l follow
25. Statements: |
All pencils are pens. Some pemre erasers. All asers are desks. Some desks are boBtwsclusions:
l. Son‘-e bottles are pens.
II. Some desks are pens.
1. Somé erasers are pencils.
(1) Only | fallows
(2) Only 11 follows
(3) Only Il follows
(4) Only I and I follow
(5) None of these
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26. Statements:
Some raincoats are dresses. Somessirs are uniforms. All uniforms are clothes. All clothes are materials.
Conclusions:
|. Some materials are dresses.

Il. Some clothes are raincoats.

I1l. Some uniforms are raincoats.

(1) Only I follows

(2) Only Il follows

(3) Only Il follows "
(4) Only I and Il follow {

(5) None of these F.
27.Statements: {
Some stems are trees. All trege forests. Some forests apads. All roads are peta@onclu:i;ions: 7

I. Some petals are trees.
Il. Some roads are trees.
[ll. Some roads are stems. \J
(1) Only | follows -
(2) Only Il follows d { ;
(3) Only | and Il follow ' {
(4) Only either 11 or 1l follows /ﬂ' #
(5) None follows / |

28. Statements: i |
Some clocks are watches. Some watches are \Balise walls are houses. Some houses are rooms.
Conclusions: ! i
I. Some rooms are walls. ‘j
II. Some houses are clocks.
I1. No room is wall. —
(1) Only I follows % "
(2) Only Il follows . !
(3) Only Il follows -« f:
(4) Only either | or 1l follows \ 4
(5) None of these A

29. Statements:
All tables are beds. No bed is boat. Some boats are lakes. All lakes areGmradssions:
I. Some ponds are tables. =«
Il. Some lakes are beds. { 3
lll. Some ponds are boats. * {
(1) None follows
(2) Only | follows
(3) Only Il follows ™ 4
(4) Only 11l follows
(5) Only land Il follow’}

| Directions (30-35) Ineach

question below Is given a group of letters followed by foambinations of digits/symbols numbered (1), (2), (3)
and (4). You have to find out which of the combinationsectly representthe group of tetters based on the fol-
lowing coding Systemjand the condi-tions and mark the nisideghat comblnation as ypanswer. If none of the
four combinations corr|ectly represents the groupttéiig, give (5) i.e. 'None 6f these' as your answer.

i
Letters |,
Digital/ [
Symbol| 8] 9] 3| 8 $

=
N
A
>
M
O
Py
=
®
o
C
S
n

[\\&
~

~
e
=
©
o1
©
Q

31. AMPWQU
(1) *#6%0* (2) % 6#0%5 (3)k #6%0O5 (4) 8#6%©5 (5) None of these
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32.SMRZFA
(1) 8#@79% (2) @#79%8 (3) 8#79%@ (4) #79%$8@ (5) None of these

33.RMSPAK
(1) 7#@683 (2) 7#@687 (3) 3H@687 (4) *7#@683 (5) None of these

34.QFPKUZ
(1) ©$6359 (2) ©$6350 (3) 9$635© (4) $©6359 (5) None of these

35. KDMRSI
(1) 34#7®2 (2) 32@7#4 (3) 24#7@3 . (4) *4#7@* (5) None of timesertions (36 - 40) Study the following
arrangement carefully and answer the questions given below. 38$QR#T4S7@1JU %
165FAC9EG*HWK2£E {

36.How many such numbers are there in the above arrangjesaeh of which is immediely prepeded by a comsonant
and immediately followed by a symbol ? ()None- (2) One
(3) Two (4) Three i 7
(5) More than three

37.Which ofthe following is the eighth to the left oktthirteenth from the le#nd of the above arrangement’P
LRE@)# .
QAT 1 . f
(5) % {

38.If all the Symbols and numbers in the above arrangearerdropped, which of the foII&)wmg will be the tenth from
the right end ? /ﬂ' #

@@ / |
(3)U@A)S / -
(5) None of these |
39. What should come in place of question mark (?).in the ‘followmg
ries based on the above arrangement?
Q#T 713 15F ? (1) CEG (2) 9G* f 4
(3) E*H (4) GHW —
(5) None of these % (;1
40.How many such consonants are therthe aboyf arrangement, each of whimmediately preseded by a vowel
and immediately followed by another co;qlon nt ? (1) None (2) One
(3) Two (4) Three
(5) More fhan three |
Directions (41-45): Following questions are based on the five three-digit numbers given below :
973 825 461 592 789
41.Ifthe positions ofthe first and the s,econd digits witkéith number are interchangdhich ofthe following will be
the third digit ofthe lowest ngmber ?
)2 (2)9 {
3)3(4)5
(5) None of these
42.1f the positions of th'e'ﬁecond and thid digits within each number are inthanged, which ofthe followang will be
the difference between the first and feeond digits ofthe lowest number ?
H1(2)3 o e
(8)4(4)2 f |
(5) None of these I
43.What is the difference between the thiighest and the lowest of these numbers ?
(1) 358 (2) 380
(3) 323 (4) 421 |
(5) None of these
44, Which 'of the following'is Ihe sum of the first and second digits of the third highest number ?
(1) 11 ) 15
(3)17 (4) 13
(5) None offthese
45. Ifthe positions ofthe first and the third digits withiracé number are interchanged, which of the following will be
the second digit ol the second lowest number ?
1)9(2)8
(3746
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(5) None of these
Directions (46 - 50): In each of the questions given below which one of the following answer figures on the right
should come after the problem figurestba left, if the sequence were continued ?

Problem FiguresAnswer Figures

e \TLTTITUTTULT LAY LT LT ELTLLLT (
@ Q)- @ G r
« [ VRFHAN V<F<T
o Mm@ e @ ©®
- R SRR
s : 0y~ @ "B @)
5o, | ) 'U'qr:é T ':_; ﬂ%{—ui—':}.—t—:m(t—

NUMERICAL ABILITY

Directions (51-75) What should come in place of the questlon mark (?) In the following questions ?
51.(9°-° x 9%%) + 9°°= 9(1)13.14%(2)12,96 (3) 12.43 (4) 13.@) None of these
52.(486% of 6500) + 36 =/? (1)867.8 (2)792.31 (3)877.5 (4)799.83 (5) None of these
53.(12.11F + (?F = 732.2921 (1)20.2 (2)24.2 (3)23.1 (4)19.2 (5) None of these
54.576-r ? x 114 = 8208 (1)8 (2)7 (3)6 (4)9
(5) None of these
55.(1024-263-233)+ (986-??4-1_56) =7

(D)9 (2)6

(3)7 (4)8

(5) None of these
46.V625+5x? =6265 |

(1)1253 (2)1250 |

(3) 1245 (4) 1550

(5) None of these
57.(42Y T 6.3.x 26 = ? (1)7182 (2)7269 (3) 7260 (4) 7240 (5) None of these
58.384 x 12X 2 = ? (1)9024 (2)9216 (3)6676 (4)6814 (5) None of these
59.6534 + 40 +83 = ? (1)3.06 (2)5.25 (3)4.82 (4)6.12 (5) None of these
60.72704 xV2209 = ?(1)1996 (2)2444 (3)2452 (4)1983 (5) None of these
61.2536 + 4851 - ? = 3450 + 313 (1)3961 (2)4532 (3)3624 (4)4058

(5) None of these
62.(2560 x 1.4) + (7400 x 0.6). = ? (1)7512 (2)9746 (3)6523 (4)8024
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(5) None of these
63.36% of 850 + ? % 592 = 750 (1)73 (2).89
(3)82(4) 75
(5) None of these
64.64% of 2650 + of 320 = ? 40% (1) 1824 (2) 1902 (3)1829 (4)1964
(5) None of these
65.486 + 32 x 2.5 - 59 =? (1)514 (2)528 (3)599 (4)507 (5) None of these
66.1827 + 36 x ? = 162.4 (1)4.4 (2)3.2 (3)2.1 (4)3.7 (5) None of these
67.1008 + 36 = ? q
(1)28 (2)32.5 i

(3)36 (4)22.2] r
(5) None of these {
68.56.21 +2 .36 +5.41-21.4+15="? i p

(1)40.04 (2)46.18

(3)44.08 (4)43.12

(5) None of these /
69.65% of 320 +. ? = 686 (1)480 (2)452 (3)461 (4)475 (5) None of these - § F

70.83250 + ? = 74 x 25 (1)50 (2)45 (3)40 (4)55 (5) None of these y { _
71.V7744 =? ' {
(1)88 (2)62 »
(3)58 (4)78 f/‘( |

(5) None of these / |
72.35% of ? = 242.55 (1)729 (2)652 (3)693 (4)759 (5) None of these |
73.1256 + 4813 + 765 = ?(1)5642 . (2)5876 (3)6788 (4)6878 (5) None of these
74.22 x 4 + (P = (13¥(1)81 (2)9 (3)27 (4)64 (5) None of these
75.432 + 2170 + 35 = ? (1)494 (2)475 (3)481 (4)469 (5) None of thes P

76. Three numbers are in the ratio of 3 : 4 : 5 respectively. If the sum of the first and third rilimbers is more than the

second number by 52, then which will be the Iq.rgkest number ? .u’

(1)65 (2)52 | |
(3)79 (4)63 N ¢
(5) None of these |

77.The Compound interest on a cer-talh amount for 2 years at the rate of 8 p.c.p.a. is Rs. 312. Whatwill be the simple
interest on the same amount and at the same rate and same time ?
(DRs. 349.92 (2)Rs. 300 (3)Rs. 358.92 (4) Rs. 400 (5) None of these

78. The length of a rectangle exceeds its breath by 7 cne Ietigth is decreased by 4 cm. and the breadth is increased
by 3 cms., then the area of the neiN rectangle will be the aariee area of the original rectangle. What will be the
perimeter of the original rectangle”
(1)45 cm. (2) 40 cm. |
(3) 50 cm. (4) 55 cm.4
(5) None of these

79.The sum of the digits Of a two digit number is 12. If the new number formed by reversing thésdigéater than
the original number byog4, then what will be the original number ?
(1)28 (2)48 !
(3)39 (4)93
(5) None of these

80.In a fraction, twice ﬂ]e numerator is two more thaa tkenomina-tor. If 3 is added to the numerator and the
denominator each, then

The reéultant fraction will bé

d
What is theroriginal fraction?
5 6
1 5 O

(BY2 (4% (5) None of these
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81. Four-fifth of a number is 10 more than two-third of the same number. What is the ru(ipeo (2)75
(3)69 (4)85
(5) None of these
82.A shopkeeper purchased 200 bulbs for Rs. 10 each. However, 5 bulbs were fused and had to be thrown away. The
remaining were sold at Rs. 12 each. Whditlvé the percentage profit ? ~ (1)25 (2)15
(3) 13 (4) 17
(5) None of these
83.What should come in place of the question mark (?) in the number series given below ? "
2534 52 79 115 ? (1)160 (2)140 {

(3) 153 (4) 190 r
(5) None of these {
84.What number should replace both the question marks (?) in the fol-lowing questions ? 7
?-49144~7 |

(1) 95 (2) 76
(3)82 (4)84 J
(5) None of these - : r
85.The sum of three consecutive evemivers is 252. What is the sum of the smallgst and the largest numbers ?
(1)158 (2)148 '
(3) 168 (4) 198 /:" #
(5) None of these / |
86.Ajay spends 25 per cent of his salary on house rent, 5 per cent onfood, 15 per cent travel, 10 petotees amd
the remaining amount of Rs. 27,000 is saved. What is Ajay's income /2
(DRs. 60,000 (2)Rs. 80,500 (3)Rs. 60,700 (4)Rs. 70,500 (5) None ofithese
87.In how many different ways, can the letters of the word/'CRISIS" bearranged ?
(1)150 (2)240 J i
(3)120 (4)200 —
(5) None of these %
88.At each corner of §quare park with sideequalto 40'm, there is a flower bed in the form of a sectoadius 14 m.
What is the area of the remaining pari ofqt'we rk.
(1) 984 i (2) 789 M <
(3) 1014 14 (4) 1024 rA(5) None of thesed
89.The length of a rectangular field is thfice its breath. If the cost of cultivating the field at Rs. 367.20 per Square metre
is Rs. 27,540, then what is the perimeter of the rectangle ?
(1)47m(2)39m .
(3)52m (4) 40 m { ’
(5) None of these '
89.The length of a rectangular field is thrice its breath. If the cost of cultivating the field at Rs. 367.20 per Square metre
is Rs. 27,540, then what is the perinet&the rectangle ? (1)47 m (2) 39 m
(3)52m (4)40m ™ 4

(5) None of these
_,p.l "

90.If the fractionsg,g,gzg Ere arranged in descending order efrthralues, which one will be the fourth ?
: @

®)F g

@) 2 !
91.The presentrages of Chetna and Shikha are in the rdio dfrespectively. After 7 years, their ages will be in the
ratio of 11:14 respectively. Whattise differ-ence between their ages ?
(2)9 years (2) 4 years
(3) 5 years (4) 7 years
(5) None of these
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92.1f 13 tnen can complete a piece of work in 36 days, iléow many days will 18 men complete the same work ?
(1)16 days (2) 20 days
(3) 26 days (4) 30 days
(5) None of these
93.1f the area of a cirelis 75.46 cr then what is the circumference of the circle ?
(2)29.2 cm. (2)28.9 cm. (3) 30.8 cm. (4)40.2 cm. (5) None of these
94.Girish started a business investing Rs. 45,000. After 3 months }ijged him with a capital of Rs. 60,000. After
another 6months, Ankush joined them with a capital of Rs. 90,000. At the end of the year, they made a profit of Rs

16,500. What is Girish's share of profit ?()Rs. 550&€2 6000 (3)Rs. 6600 (40 Rs. 5900 (5) None of these

&
5.What is the average age of a fanufyfive members, whose ages are 42,58 63 and 35 years re—spective?? 29
(2)60 years (2) 49 years (3) 45 years (4) 58 years (5) None of these f F
96.A and B are two taps which can fill a tank individuallylih minutesand 20 minutes respectively. How-ever. there is
a leakage at the bot-
tom which can empts filled tank in 40 minutes. If the tamkempty initially, how much time will both the taps take
to fill the tank (leakage is still there) ? (1)8 minutes (2)minutes (3) 10 minutes:(4) 15 minutes (5) None of these
97.What is 50% of 40% of Rs. 3,450 ? (I)B80 (2)Rs. 520 (3)Rs. 517.5 @)Rs. 499.2 (
(5) None of these
98.If an amount of R%,86,700 is ditributed equally amongst-?‘f)’ersons,‘"then how much wpuld each person get ?
(DRs. 2,54,876 (2)Rs. 2,34,68 (3)Rs. 3,74,20 (4) Rs. 1,95,62 (5) None of these
tank in 40 minutes. If the tank is empty initially, how much time will bath ths take to fill the tank (leakage is
still there) ? (1)8 minutes (2)> 7 minutes (3) 10 minutes (4) 15 minutes (5) None of these
97.What is 50% of 40% of Rs. 3,450 ? (I)R€0 (2)Rs. 520 (8)Rs. 5175 (4)Rs. 499.2
(5) None of these
98.1f an amount of R%,86,700 is ditributed equally amongst-25 persons, then hew much wpuld each person get ?
(DRs. 2,54,876 (2)Rs. 2,34,68 (3)Rs. 3,74,20 (4) Rs. 1,95,62 (5) None-of these
99.An urn contains 9 blue, white! and 4 black balh.,ﬁlﬁf 2 balls ans dréwn at mngdthen what isthtl probability that

only one ball is| white ? {
| ¢
71 121
Do @ ._‘ |
91 93
@5 G )

-

100.If the price of 5 transistors aif\d pen Stands is Rs.t&&@w will be the price of 7 transisto and 9 pen Stands ?
(DRs. 1,320 (2)Rs. 1,50 (3)Rs. 1,150
(4) Cannot be determined
(5) None of these 4

F
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CLERICAL APTITUDE

Directions(101-13S)Inead questiom belov acombinatio of Name and Addresisgiven in thefirst colunn at the
left followed by four sudh combinatios one ead unde the columrs 1,23 ard 4. You hawe to find out the combinatio
which is exacty the sane as the combinatian in the first column The numbe of tha colurn which contairs ta
combination is the answer If all the combinatiors are different the answe is'5".

101 Alok Marwd
Rajpu NagarK
Bhiwani-04

102 Suni Verma
102 Vasarn Kunj
Delhi-36

103 Veera Shaky
47-D, Sector-Z
Chandimandir-3

104 Ditya Bhat
E.G. Road,.4RA

Dehradun-2

105 Reedhina Ojha
571-M, Z-Stree
Kaithal-13602Z

106 Bhawra Ram
36/D R.K. Rod
Vasista-%

107. Nandan Seh
K.V. No.-I, AMC
Lucknow-22600Q

108 Utsav Singh
6-Radla Naga
Mathura-3

109 Dipes Lal

(1)
Alok Marwd
Rajpu NagarK
Bhiwini-04

Suni Verma
102 Vasan Kunj
Delhi-36

Veem Shaky
47-D, Sector-E
Chandimandir-3

Ditya Bhat
E.C. Road41A
Deradun-2

Reedhina Ojha
571-M, Z-Stree
Kaithal-1360Z

Bhawara Rama
36/D R.K. Road
Vasista-%

Nandar Seh
K.V. N-1, AMC
Lucknow.2260&"

Utsar Singh § f
6-Adha Naga
Mathura-3

Dipesh Lal

(2)
Alok Marwd
Rajpu NagarK
Bhiwani-04

Suni Verma
102VasntKum
Delhi-36

Veem Shaky
47-D, Sector-Z
Chandimandir-3

Dithya Bhat
E.C. Road 41A
Dehradun-2

Reedhera Qjha
571-M, Z-Stree
Kaithal-1360Z

Bhawm Rama
36/D R.L. Rod
Vasista-$6

Nandan Seh
V. No.-I, AMC
ucknow-22602

Utsar Sindch
6-Radla Naga
Mathura-3

Dipesh Lal

(3)
Alok Narwd
Rajpu NagarK
Bhiwani-04

Suni Verma
102VasntKum
Delhi-38

Veem Shaky
47-D, Sector-Z
Chandimadi -43

Ditya Bhat
E.C.'Road 41A
Dehradun-2

Reedhina Ojha
| 571-W, Z-Stree
Kaithal-13602Z

wra Rara
/D R.K. Road
Vasista-64

I‘fandara Seh
K.V. No.-I, AMC
Lucknow-22600Q

Utsar Sindgh
6-Radla Naga
Mathura-2

Dipseh Lal

; Ditya Bhat

(4) ®
Alok Marwd None
Rajpu NagarK
Bhiwani-04 |

Suné Verma
102 Vasarn Kunj
Ddlhi-38

Veem Shakhw
47-D, Sector-Z
Chandimandir-3

None
E.C. Road 42A
Dehradun-2

Reedhina Ojha
571-M, Z-Streea
Keithal-1360Z

Bhawra Rama
36/D R.K. Rod
Vasishta-#

Nandam Seh
K.V. No.-l, AMC
Lucknow-22600Q

Utsar Sinch
6-Radla Nage
Mathura-3

Nore

Dipes Lal Nore

A-14/3, M.G. Road A-14/3, M.G. Road A-13/4,M.G. Road A-14/3, M.G. Roai A-14/3, M.G. Rod

Kalegaon-2

Ka'i.egaorrB

Kalegaon-2

Kalegaon-2

Kalegaon-2
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Abhish& Ra
1029/3 Rajgah

110 Abhish& Ra
1029/3 Ramgah

Patna-80004 Patna-80004

111 Bharu Prata Bharu Pratdp
16-3D,A.S.Colory 16-3C A.S. Colory
Jodhpur-5 Jodhpur-5

112 Neery Dayd Neerg Dayd

23-Military Canp
GarhiCantt-1

23-Military Canp
GarhiCaritt-H4

113 Gurmi Kaur
96-A, Dha Point
Sonepur-84110

114 Prabh& Nair
Golden Chowk
56-D, Munirka

Gurmee Kaur
96-A, Dha Point
Sonepur-84110

Prabha Nair
Golden Chowk
56-D, Munerka

115 BindiaVishwas
18-A/C2, Navy-3
Kolaba-3

Bindia Vishwas
18-A/C2, Navy-3
Kolaba-3

116 Jyotf Dhandx
6/l,ShivalikNah
Aslamabad-3

Jyot Dandca
6/1,ShivalikNath
Aslamabad-2

117. Kavisa Salup
L.P.U. Universiy
Phagwara-3

Kavisa Salup
L.P.U. University
Phagwar&"-3

118 Monika Dewv
ShgpNo.-163A
Mahupur-B

Monika Deva
ShopNo.-163A
Mabhilpur-18

119 Sapa Mohan
35-Kalkaj Roa
Panchkula-2

Sapam@ Mohan
35-Kalkaj Road

120PermilaJai
Surya Colory
Garhwal-®

PormilaJan
Surya Celory

Garhwali(D »

121 Prania Gopd Pranitra Gopa |
A.E.C.GirlsHostd A.E.C. GirlsHosté
Pachmarhi-2 Pachmarhi-2

o

122 Irfan Khan Irphan Khan
3/Park Gal 3, Park Gal
SadarBajar-10 Sada Bajar-10

123 Anubhar Josh Anubhar Josh
2036/M, F.R.L 2306/M, F.R.I
Ballupur-0® Ballupur-®

124 AshishAn ard Ashish Anard
IHM, Phase-l IHM, Phase-l
Pusa—h Pusa-8

125VinajDev' Vinaj Dev
Army Boys Hostd ~ Army Boys Hostéd

Udhampur-3 Udhampur-B

126 AnitaNarwd
A-37/E, D.A.V.
Hoshiarpur-2

AnitaNarwd
A-37/E, D.A.V.
Hoshiarpur-2

Panchkula-2 e

Abhishe&k Ra

1029/3 Ramgah

Patna-80004
Bharu Prathg

16-3D, A.S. Colory 16-3D, A.S. Colory

Jodhpur-5

Neerag Dayd
23-Military Canp
Garh Cantt-4

Gurmit Kaur
96-A, Dam Point
Sonepur-84110

Prabha Nair
Golden Chadk
56-D, Munirka

Bindia Vishwas
18-A/C2, Navy-3
Kol;abha-3

Jyot Dhand

6/l,ShivalikNaty

Aslamabad-2 |
Kavlsha Salup
L.P.U. Universily

Phagwara-3

MonikaDewu
Shop NO+-86/A
Mahilrfjr-ls

Sa al- Mohan

1 36-Kalkaaj Road

Panchkula-2

PermibJan
Surya Colary
Garhwal-®

Prania Gopa

A.F.C.GirlsHostd A.E.C.'Girls Hotd

Pachmarhi-3

Irfan Khan
3, Parkh Gali
Sada Bajar-10

AnubhavJosh
2036/M, F.R.L
Ballupor-®

Ashish Anard
IHM, Phasedl
Pusa-&

Vinaj Dev
Army Boys Hosté
Udhampur-3

Anita Narawa
A-37/E, D.A.V.
Hoshiarpur-2

Abhisekh Ra Abhishe& Ra None

1029/3 Ramgah  1092/3 Ramgah

Patna-80004 Patna-80004

Bharu Pratgo Bhura Pratg None
16-3D, A.S. Colory

Jodhpur-5 Jodhpur-5

Neerg Dayd Neera Dayd Nonre

23-Military Canp

32-Military Canp
Garh Cantt-4L {

Garh Cantt-4 )

Gurmit Kaur " Gurmit Kaur N}w‘e
96-A, Dha Point 96-A, Dha Poirt I
Sonepur-84110 Sonipur-i-8411(ll r
Prabha Neir PrabhaNair None
Golden Chowk Golden Chowk
56-D, Munirka 56-D, Munirka.
Bindia Vishwas | Bina_iaViswash None
18-A/C2, ‘Navy-9 18-A/C2, Navy-3

laba-3Bs Kolaba-3
Jyot Dhanda Jyot Dhand Nore
6/1,ShivalikNah 6/1,ShivalikNat
Islamabad.'-:ﬂ Aslamabad-3
Kavi$ Suluja Kavisa Salup Nonre
L.P. WXaiversity L.P.U. Universiy
Phagwara-3 » Phagwura-3
MonikaDév™ MonikaDevi Nore
ShaNp.-163A ShgNo.-163A
Mabhilpur-18 Mahilpuri-18
Sapa Mohan Sapa Mohen None
35-Kalkaj Roa 35-Kalkaj Roa
Panchkula-2 Panchkula-2
PermikJan PermibJan None
Surya Colory Surja Colory
Garhwal-® Garhwal-®
Prania Gopa Prania Gopad None

A.E.C. GirlsHosté

Pachmarhi-3 Pachmarhi-3
Irffan Kahn Irfan Khan Nonre
3, Park Gali 3, Park Gali
Sada Bajar-10 Sada Bajar-10
AnubhavJosh Anubhar J osh Nore
2036/M, F.R.LI 2036/M, F.R.1L
Ballupur-® Ballupur-20
Ashish Anard Ashish Amard None
IHM, Phase-ll IHM, Phasedl
Pusa-8 Pusa-8
Vinay Dev Vinaj Dev None
Army Boys Hostd Army BoysHotd
Udhampur-3 Udhampur-3
AnitaNarwd AnitaNarwd None

A-38/E, D.A.V.
Hoshiarpur-2

A-37/E, D.A.U.
Hoshiarpur-2
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127. Yogende Singh
I.M.A., Cadet-B
Pren Nagar-B

128 VijenderPa&
3, YamuraColory
Kasauli-1732@

129.RIchaBish
A-42, Galke Rod
Dimapur-%

130.AbhinavSa
97-A, Aurther Roa
VivekVihar-51

131 Rakeé Kapri
36-AryaSama
Mulakote-26258

132 ShavneeKaur
D M C College
Ferozpur-Z

133 Rav Gupt
653/A, PIctNo.3
Tinsukia-4&

134 Amrit Sahoa
23-Legz Lane
Calgary-3621

135 Neetu Sarka
Friends Colony, 61
LodiRoad-A6 3/I

Yogenda Singh
I.M.A., Cadet-®

VijendraPd
3, YamuraColory
Kasauli-1732@

97-A, Aurther Road
Vivek Vihar-51

36-AryaSama
Mulakote-26258

Yogende Sinch
I.M.A., Cadet-®
Pren Nagar-B

Vijender Pd

Prenm Nagar-B

Kasauli-1732@

Richi Bisht Richa Bisht
A-42, Gale Rod A-42, GaleLane
Dimapuf-57 Dimapur-5
Abhinab Sen Abhinay Sen

Vivek Vihar-51

Rake# Kaprn Rake# Karpi
36-AryaSama

Mulakote-26258

Shavné Kaur ShavneeKaur

D M C College D M C College
Ferozpur-Z Ferozpur-Z

Ravi Gupa Raj Gupa
653/A, PlotNo.3 ,653/A, Plot No.-3
Tinsukia-4 Tinsukia-47 |

Amrit Sahoa Amrit Sahoa
23-Lepz Lane 23-LepsLane
Calgary-3624 Calgary-3624
Neeu Serka Neeu Sarka

Friends Colony, 61 Fri nIESCoIony, 61

Lodi Road-A6 3/]:,\' Laodi Lane-A6 3/1
4

3, YamuraCalory

97-A, Aurther Road

Yogende Singh Yogende Singh Nore
I.M.A.,Cadet-& I.M.A., Cadet-36

Prem Nagar-B Prem Nager-B

Vijender Pd Vijender Pd Nore
3, YamuraColory 3, YamuraColory
Kasauli-1372@ Kasauli-1732@

Richa Bisht RichaBisht Nore
A-42, Gale Roa A-42, Gale Rog®
Dimapur-5 Dinapur-5% !

Abhinav Jen Abhinav Sen

&
g
97-A, Aurther Road 97-A, Aarthe Ro .
Vivek Vihar-51 Vivek Vihar-51

Directions (136-14Q : Below in
ead questiaon five words are given
Which of them will come at the third
place if arrangé alphabeticaly as in
the dictionay 2. .

! Jrou hawe to find out which of the
weombinatiors (1), (2), (3) or (4) hasthe
corred codea form of the given letter
group and indicate it on the
answersheetlf nore is corred¢ coda

Rake# Kapri Rakes Kapii Nore
63-AryaSama 36-AryaSama
Mulakote-26258 Mulakate+26258
ShaynetaKaur’- ShavneeKaur Nore
DM C'College CDM College
Ferozpur-2 Ferozpur-Z
Rav Gupta Rav Gupta Nore
653/A,/Plot No.-6 635/A, PlotNo.3
Tinsukia-4 Tinsukia-47

rit Sahoa Amrit Sohaa Nore
23l e Lare, 23-Legx Lare
Calgary-362% Calgary-3622
Ngeu Sarka Neeu Sarka Nore
Friends Colony, 61 FriendsColony, 61
LodhiRoad-A 3/I Lodi Road-A 3/1

(3) 516439 (4) 516349

(5) Noneof thes
Directions (146-150Q :Thené&

item in eadt questio below isto
classified into one of the following fi

136.(1) Rappot 2 Rapp(.a gjnr?m,lg:ve(S)i.e.'Noneof theseasthe .
(3) Raptue  (4) Rapidly { (1) Politics, (2) Socid Isste
(5) Rapacios | 141 BPVIMYS (3) Scieneand Health (4) Sporsa
137.(1) Shriek (2) | Shrirk (1) 317642 (2) 3174623 (5) Miscellaneous
(3) Shrew (@) Shrinp (3) 3179642 (4) 317462 The numbe of the area (1) ¢
(5) Shrive (5) Nonre of thes , (2) or (3) or (4) of (5) astlieca®i
138(1) Canoy @ A nye 142 GVBFESYM be isyour answer
(3) Canva (4) Gandou (1) 8753296 (2) 87352% 146 PCS will be usal of fit artif
(5) Cantonmen | (3) 873598 (4) 8793558 limbs.
1) Politics
139.(1) Instina (2) Instalmen (5) Noneof thes @ »
(3) nstil @linsteal 143 SJIPUMMB (2) Socid Issue
(5) Instrud | (1) 241068 (2 241563 (3) Sciene ard Healh
140.(1), Pardm (2)/Parcé (3) 2147638 (4 241758 (@) Spors
(3)\Parchd  (4) Paren (5) Noneof thes (5) Miscellaneos
Directions (141_ 145) Thelet- (1) 79123% (2) 790123% r(‘i;?cl):’:t:;d|a hawe risen
ter grow in €at questim below is to (3) 791023 (4 791203 2) Socid Isste
be codifled in the following codes : (5) Noneof thes (2) Soc e ealts
Letter |B|F|S|Y|P|M|V|J|G|u| 145 FPMIBW S; 225:?61 ea
1) 561439 2) 561239
Code |3]5|2|9] 116/7]4/8]0 @ @ (5) Miscellaneos
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148 Five Indians in the World XI
Cricket Team
(1) Politics
(2) Socid Isswe
(3) Sciene ard Healh
(4) Spors
(5) Miscellaneos
149 Escalatig food prices unite Op-
position Politicd Parties
(1) PoliUcs
(2) Socid Isswe
(3) Sciene ard Healh
(4) Spors
(5) Miscellaneos
150 Delh record the coldes day of
the season
(1) Politics
(2) Socid Isswe
(3) Sciene ard Healh
(4) Spors
(5) Miscellaneos

ENGLISH LANGUAGE

Birections (151-169 : Rea the
following passag carefully and answe
the questios given below it. Certan
words/phrasge hawe been printed in
bold to helpyou locate them while an
swerirg sone of the questions

Once upm atirhe, there was a
royd elephabwhich usel to resice in
the premise of the King's palace The
elephabwasvery dea to the king, so
hewaswell-fed ard well-treatedThere
was alo a dog who lived nea the
elephans shed Hewasvery wee ard
skinny. He was always fascinatel by
the smel of rieh swee rice being fed
totheroyd elephant

One day, thedog could no longe
resist the arona of the riée and some
how manage to sne& into the
elephant shed He ate thelgrairs of
swee rice tha feil from theelephant
mouth: He liked the ricesnoI uch tha
he startel going there daily to ea the
rice. For days the huge elephandidnt
notice thessmal dog as he was busy
enjoyirgthe deliciowsfood Gradually
the dog grew bigge ard stronge eat
ing sud fieh food. Finally the elephai
noticed himyard allowed him accesto
the food.

The elephanmn enjoyed the Com
pary of the dog and starte&l sharirg
his food with him. They als starta
spendiig timewith eat othe ard som
becane goad friends They atetogether

slep togethe amd played together
While playing the elephatbwould hold
the dog in his trunk and swing him
badk and forth. Som neithe of them
was happ without the other They
becane gred friends and didnt wart
to be separatal from ead other

Then one day, aman saw the dog
and askel the elephant-keeper'l want
to buy thisdog What price do you wart
for it?" The elephant-keepedidnt own
the dog but sol it ard extracted asum
of money from this deal The man took
thedogto hishomevillage, which was
quite far away The king's elephanm
becane very sa afte this incident
He missel his friend a lot ard startel
neglectirg everything He didnt want
to do anythirg without his dea friend,
so he stoppel eating drinking and even

bathing »

Finally, the elepl'é‘:t-keepere-.
ported this to the kin,é; howeve he
didnt mentian anythirg abou the dog
The king had awise minister who was
known for his keen underst%ig of
animals The king orderel the rd'p‘ils-
ter, "Go to the elephans shed ard find
out the reasm for the elephant con-_
dition". Thejintelligert ministe wgrt to
the elephansfshal ard found the el
epharn very sad He examinel the el-
epha askel the elephant-keeper
Th I;g istnothing wrong with this
elephangbody, then why does helook
so sal ? | think this elephan is grief
stricken possiby due to the loss of a
dea friend. Do you know if this el
ephan share@ a close friendshp with
anyone?

The elephant-keepesaid "There
was a dog who usea to eat sleg ard
play with the elephant He was taken
by astrangethree days ago" The min-
ister went bad to the king ard said
"Your majesty in my opinion, the royd
elephan is not Sick, but he is lone
sorae without his dea friend, the dog".
Theking said "You'reright, friendshp
is 6ne of the mog wonderfu things of
life. Doyou know where tha dog is ?'

The Minister replied "elephart
keepe has informed me tha astrange
took him away ard he doesnt' know
his whereabouts" The king asked
"How can we bring badk my elephans
friend ard make him happy again? The
Minister suggested"Your Majesty,
make adeclaration, tha whoeve has
the dog tha usedb live at the royd
elephans shal will be penalized:'The

king did the sanme ard the man who
had taken thedog instantly turned him
loose when he head the proclamation
As som as he was freed the dog
ran bak as fagz as he could to the
elephans shed The elephan was so
delighted to see the dog tha he picked
his friend up with his trunk ard swurg
him badk ard forth. The dog waggel
his tau, while the elepfhans eyes
sparklel with happinessThe kigg was
contert to see thelelephamn ha eonc
agan ard rewarde the minista for
hiswisejudgement F
151 Wha was the Ministers diagne
sis of the elepllhans condition ?
(1) The elephanhated his keepe
i (2) Fhe elephanhwas lonely
1 (3) The elephanwas starvirg
(4) Theelephabhhad hurt hisleg
and was in pain
(5) None of thes
Wha methal did the Minister
sugges to king to get bad the
dog?
(1) To declae tha whoeve had
F that particula dog would be
# punishel
(2) To keep abowl of rice for the
dog in the.elephard'sheal so
that he could be lured badk
to the pala®
(3) To commanl the elephan -
keepe to look for the dog in
the village
(4) To persuae the elephat to
call out to the dog
(5) None of thes
Why had the elephamh becone
very sa ?
(1) He no longea got his daily
bowl of rice
(2) He was unhappy with the king
for having sold the dog
(3) He missal his friend the dog
(4) He was sold t6 an unknown
man by his keepe
(5) Nore of thes
Wha did the elephant-keepedo
to the dog ?
(1) He sold the dog to an un-
known man for aprice
(2) He hit the dog as the dog was
, eatirgthe elephanst food
(3) He killed the dog
(4) He complainea to the King
abou the dog
(5) Nore of thee

152

153

154

www.examrace.com



155 Which of the following would be
the modg appropriae title for the
passag ?
(1) Friends ard Enemies
(2) ThePlayfu Dog
(3) The King ard the Minister
(4) The Elephant-keepe
(5) The Bond of Friendshp
Why was the elephahtaken car
of?
(1) Hewasavery specidelephah
as he coul talk to dogs
(2), Hewas avery loyal elepham
(3) He was the strengetselephan
in the kingdam
(4) He was we&k ard the King
had alot of sympatly for him
(5) The elephath was very dea
totheking
Why did the dog stat going to
the elephant shal everydy ?
(1) He liked the elephanalot ard
wanted to becone friend with
him
(2) Hewas being fed by the King
everydy
(3). Hewasfond of the elephant
sheal
(4) He liked the taste of the rice
being fed to the elephant
(5) Nonre of thes
What did the dog do onae he was
se free ?
(1) He aterice to his hearts con
tent
(2) He thankel the king for his
kindnes " i
(3) He ran away from the king- |
dom to aplace farawgy
(4) He ran bad to his friend the
elephamn "’
(5) None of thes
Wha of the followir:? can defi-
nitely be sad abou the elephant
keepe ?
(A) He was greedy ]
(B) Hewas insensitive
(C) He was brave
D Oniy{A) (2
(3)Only (A) ard (B)
(4) Only (B) ard (C)
(5) AT (A), (B) ard (C)
160. Which qf the following can defi-
nitely be sad abou the king ?
(A) He was compassionate
(B) He was deceitful
(C) Heloved animals

156

157

158

159

CJnIy (B)

(1) Only(A)
(9 Only (A) ard (C)

(3) Only (A) ard (B)

(4) Only (B)

(5) All the three (A), (B) ard (C)

Directions (161 - 163). Choo®
the word/groy of words which is
most simllar in meanirg to theword/
group of words printed in bold as used
in the passage
161 EXTRACTED

(1) pulled (2) insertal
(3) wring (4) dug out
(5) receivel
162 DECLARATIO N
(1) paa (2) praise
(3) announcemen
(4) writ (5) resoher
163 KEEN a
(1) shallov (2furgen |
) concentraté; |
(4) dee (® eage | |

Directions ( 164-165 :Chopo®
the word/groy of words which' is
most opposite in meanimg to th v rd/
grou of words printed in bold as usel
in the passage

-

164 RESIST{ (
I)gigcin (2)pleas |
),:;truggb (4) try out

V 4(5) defy
465 SEPARATED
(1) stud (2)united
(3) estrangd (4) bourd
(5)joined

Directions (166 - 170). Which
of thephrase(1), (2), (3) ard (4) given
beltw eat sentene shoul replae the
phra® printed inbold in the sentene
to make it grammaticaly corred¢ ? if
the sentene is corred as it is given
and 'No coirrectio is required, maik
(5) as the answer
166 Trisha could not solve the prob-
lem at all ard was at her wit's
ending.

(1) her wit's erd

(2) the wit ends

(3) her witty erd

(4) the wit erd

(5) No correction required

It's a smal theate ard the seas$
are uncomfortable but the saw
ing grace is tha the air condt
tioningisgood

(1) gracto saw

167.

(2) gracirg saw
(3) save grae
(4) sawe to grae
(5) No correction requiied
Tarun had to prepae the dod
mert for hismeetir® urgenty bu
hewas hardly pressael for tii
(1) had pressd for timely
(2) had pressé for time
(3) hardly pres to.time r
(4) had préssim to timgly
(5) No corgection required .
Surg lied from his teeth' toj
out of thetens Situation with |
boss {
(1) lies for his teeh
{ (2)lieto his teeth
" (3) lied through his teeh
(4) lied from his tooth
(5) No correction required
Satid lay in bed wide awaken
as he was wofried abou his ex
ams startirg the next day.
(1) widen awakenimgy
(2) widely awale
4 (3)wide ard awale

(4) wide awale

(5) No correction required

Directions (171-179 : In eat
question below, a sentene with four
words printed in bold type is given
Thesarenumberéas (1), (2), (3) ad
(4). Oneof these four words printed i
bold may be eitha wrongly spet or
inappropriat e in the contex of the
sentenceFind out the word which is
wrongly spet or inappropria¢ if any
The numbe of tha word is your an
swer. If all thewords printed in bold
are correcty spet ard also appropr
ate in the contex of the sentencemak
(5), i.e,, 'All correctasyour answer
171 Peoplewentcraz (1)/ whentke
musician along with his friend,
(2)/ took to the Staging (3)/ ard
belted out popular (4) /tracks All
corred (5)
For agrowing numbe of coupals
(1)/ adoptio is nat a helples
compulsion (2)/ but a deliber-
ate (3)7 and often noble (4)/
choice All corred (5)
On two consecutive (1)/ nights
the two greatesicones (2)/ of
showbusines were honourel
with unprecedental (3)/ affec
tion. (4)/ All corred (5)

168

169

170

172

173
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174 We are so busy looking at
modiocrity (1)/ thatwhen atruly
outstandilg achievemen (2)/
stares us in the face we resort
(3)/ to the san®e terns of praise.
(4)/ All corred (5)

175 Theunlikely migration (1)/was
offlcially (2)/ explalna as a
move to med expanding (3)/
busines oportunities. (4)/ All
corred (5)

Directions ( 176 - 180 : Rea-
range the following six sentence(A),
(B), (C), (D), (E) and (F) inthe prope
sequene to form a meaningfli Para
graph then answe the questios given
belonv them

(A) He immediatey acknow}t
edgal Mohans goad work
ard invited him to hishome
for dinner.

One day awealthy mercham
sert his sons bicycle to the
sho for repair

The next day the merchanm
caneto claimthebicycleard
noticed tha it was shiny.
After repairirg the bicycle
Mohan cleana it up and
mack it look new.

Onceupa atime, theewas
a boy nama Mohan who
worked as an apprentie in
abicycle Shop

Othea apprentics in the
sho laughel at Mohan for
doing unnecessgrwork.

®

©

(D)

®

)

176 Which of thefollowing shofitibe
the secord sentene afte rear
rangemeh? |
(DA (2)B
(3)C (4)D)

(5)F F)

177 Whichofthefollowinfhdutibe
the THIR D sentene afta rear
rangemenmn? !

(DA (2)B
(3)C, (4 D
(5)E

178 Which ofthefollowing shout be
the"FIRST sentene after rear
rangemen ?

(DA (2)B
®»Cc & @D
(5)E
179 Which ofthefollowing shouH be

the LAST (SEXTH) sentene af
ter rearrangemen?

(DA (2)B
3)D (4 E
(5)F
180 Which of thefollowing shout be
the FOURTH sentene afte re-
arrangemerst
(DB (2)C
3)D (4 E
(5)F

Directions (181 - 190 : Red
ead sentene to find out whethe there
is any grammaticherra or idiomatic
error in it. The error, if any, will bein
one patt ofthe sentenceThe numbe
of tha patt is the answer If ther is
'Np error, the answe is (5). (Ignore
errors of punctuation if any)

181 Inabou fiveminutesthey weuld
(1)/ cove the distan@ from the
road to the point ( where the
waveswould (3) /begn Iickthe'lr

feet (4)/ No err!&r(S)

182 The devastatig, experieﬁce (1)'/
of mary wars taugh songe coun
tries (2)/ the necesse;Ef r
suing pea@(3)/ atthee 'Pz;e
of nationalis egos.(4)/N erfar (5)
The former Supersta recenty”
(1)/ vﬁit@n orphanage (2)I fuel-
ling speculatio tha (3)/ shewas
ﬂamﬁrg to adog achild. (4)/ No
erro (5)
182. '}\ccordane to anew study (1)/
" taking Step to reman healtly
and yourng (2)/ may help delay
(3)/ the onse of Alzheimeis dis-
ease(4)/ Noerra (5)

Aday afta hewasdiagnosdwith
(1)/ swine flu, preventie mea
sures were put in place (2)/ to
ensuetha otheswerenot (3)/
affectad by thedreadeé virus. (4)/
No erra (5)

The administratio has conclusie
(1)/ tha it isretailes who are
(2)/ responsale for upsettig (3)/
thecity'shousehad budget (4)/
No errar (5)

187. The assurancesunfortunately
(1)/ remaine on paper as (2)/
neithe the Cente or the State
initiated Steps (3)/ for the develt
opmern of the backwad region
(4)/ No erra (5)

Sedimendeposi alorg the coas
(1)/ may be the primaly reasm
for (2)/ thechanginconditions
(3)/but alot moreremairstobe
understand (4)/ No erra (5)

183

185
{

186

188

189 A committeewill besda up (1)/ to
explore pros ard cors by (2)/ a
comma fee structure ard will
(3)/ take afinal decisio on it
withinaweek (4)/ Noerra (5)

Theinfectionwhich causs(1)/
gums to blead ard teeth to fall
out (2)/ resuls from the build-
up of (3)/ a particula bactera
that is comma to the mos
mouths 44) No errar (5),
Directionsi(191 - 2004 In the
following passag there are blanks
ead of which| has been nurrbered
Thes numbes are printed below the
passag ard agains each five words
are suggestedone of which fits the
blank appropriately/Find out the ap-
propriat word in eat case

Oncé upan a time there was a
prince who wantel to marry a prin-
cess but she would hawe to be ared
princess He (191 all over the world
to find one but nowhee eould he get
what hewanted One evenirg during a
terrible storm there was thunde ard
lightning, ard the rain poured down in
torrents Suddeny a knpcking was
(192 at the palae door, ard the old
kKingweh to open it. It was aprinces
Standimg out there But, goad gracious
What asight the rain ard the wind had
macde he look. The wate ran down
her hair ard clothes into the toes of
her shoes ard out agan at the heels
And yet she insisted tha she was a
real,princessWell, we'l soa (193 out,
though the old queen But she sad
nothing wert into the bedroom took
all the beddirg off the bedsteadard

(194) a pea on the bottont then she
took twenty m'attresseard laid them
on the pea ard then twenty quilts on
(195 of the mattressesOn this the
princes had to lie all night Inthe (1961
shewas askedhav she had slept "Oh,
very badry!" sad she "l scarcey closeal
my eyes all night Heaven only knows
what was in the bed but | was lying
on somethig hard as a (197 | am
black ard blue all over my body. It's
horrible!" Now they knew tha she was
ared princes becaus she had (198
the pearight throudh the twenty mat
tresses ard the twenty quilts. Nobody
but ared princes eould be as (199
as that So the prince took he for his
wife, for now he (200l tha he had a
red princess.

190

191 (l)called (2)tou
(3) sen (4) sav
(5) travelled
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192

193

194

195

196

197.

198

199

200.

(1) mack
(3) head
(5 soundd
(1) assue
(3)judee
(5)try

(1) drew
(3) placd
(5) stitch
(1) top

(3) bottam
(5) middle
(1) mornirng
(3) room
(5)dark

(1) vengeane
(3) caue
(5) time

(1) slep

(3) located
(5) found
(1) worried
(3) irritable
(5) prety
(Dtrust
(3) wantal
(5) knew

(2) feit
(4) seen

(2) find
(4) mak

(2) flung
(4) cooked

(2) head
(4) betweea

(2) dinneg
(4)fields

(2) price {
(4) resut -

(2) feit { r
(4) carriedd

(2) rouch -

(4) sensitie ! #
= t. 1'

(2 assurd“,

think I

‘\_/j
i £
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ANSWERS

1.(1) 2.(5) 3.(3) 4. (4)
5.(2) 6. (4) 7.22) 8.(1)
9. (3) 10. (1) | 11.(9) 12.(5)'
13.3) [ 14.3) [15.(2 16. (1)
17.(5) 18.(5) [ 19.(3) [ 20.(2
21.(1) 22.3) [23.(3 |[24.(5
25.(2) [26.(1) [27.(5 [ 28.4)
20.(4) [30.(4) [31.(1) [32. (3
33.2) [34.(2 [35.(3) |[36.(3)
37.(1) [38.(2 [39.2 40.(1)
41.(4) [42.2 [43.(5 [44°@
45.(1) | 46.(3) | 47. (4| 48.12)
49.(5) | 50.(1) | 51. (ﬁ' 52. (3)
53.(2) | 54.(1) 554(4) 56.(1) |
57.(5) | 58.(2) |59 (5 60. (2)1
61.(3) [62.(4 |63 4 [64.0))
65.(4) |66.(2 [67.(1) |68 (3
69.(5 |70.(2 |F1.() 2.
73.(5) | 74.(1) [75.(1) 64(1)
77. (2) 78. 3) [ 79.03) 80. (4)
81. (2) 2.(4) [83.(1 84..(4)
85.(3) 8i‘ 0 [87.(9 88 (1)
89.(4) [90.1@) [91.(5 |92 (3
93. ( 94.(1) |95.(2 [96.(1)
97. (5)% [498. (2) | 99. (3) 100. (4)
10h. ) | 102. (1) [ 103.(2) | 104. (3)
105.11) | 106. (3) | 107. (4) [ 108.(2)
109. (4) | 110.(2) [ 111.(3) | 112.(1)
113.(3) | 114. (4) [ 115. (1) | 116.(2)

ol 117. (1) [ 118.(3) [ 119. (4) [ 120.(5)
121. (4) | 122. (4) [ 123.(3] | 124. (1)
125.(2) | 126. (1) [ 127.(2) [ 128.(4)
129. (3) | 130.(2) [ 131.(1) | 132.(2)
133. (1) | 134.(3) | 135.(5) | 136.(2)
137. (4) | 138.(5) | 139.(3) | 140.(1)
141. (4) | 142.(2) [ 143.(1) | 144.(5)
145. (3) | 146. (3) | 147.(2) | 148. (4
149. (1) | 150. (5) | 151.(2) | 152.(1)
153. (3) | 154. (1) | 155.(5) | 156. (5)
157. (4) | 158. (4) | 159.(3) | 160. (1)
161.(5) | 162. (3) | 163. (4) [ 164. (1)
165. (2) | 166. (1) | 167.(5) | 168.(2)
169. (3) | 170. (4) [ 171.(3) | 172. (1)
173.(2) | 174.(5) | 175. (4) | 176.(2)
177.(4) | 178.(5) | 179. (1) | 180. (5)
181.(2) | 182.(3) [ 183.(2) [ 184.(1)
185. (5) | 186. (1) | 187.(3) | 188. (4)
189. (2) | 190. (5) | 191.(5) | 192. (3)
193. (2) | 194. (3) [ 195.(1) | 196.(1)
197. (4) | 198.(2) | 199. (4) | 200. (5)
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EXPLANATIONS

1. (1) The code has been generated 6. (4)

by writing the letters in reverse

C 20 km B

order '3

OMNIBUS = SUBINMO

. Therefore, 10 km 10 km

. 'TROUBLE = ELBUORT

2. (5] & b
[] E‘E')km D A
\L_l I l " Required distance
3 1518 16 15 18 1 20 5 =AE=AD + DE = 20 km + 5 km
C OR P O RA E =925 km
I—--—-—T K 7.(2)12 B 20 A 4 g 10 F30=?
3. 3B OND DA ZE =?=12x20+4-10+ 30
(S R A =>?=_12x5-.10+30
9©35 5 @72 oy Tiw B0~ 10=-80
‘ 8. (1)

Therefore, 1184 3 5 7 1"51 9
Z ONE ’q—‘r ]J
1Ll 5th to the left of 2

. 7 @3 2 9.33ZY XWVUT

4. 4@ ZY XW.VU

34?‘89 ZEXRW M

E||D] U C|A||IT] I O N Z Y X W

Meaningful word = DATE [?—_| X

8 (2.5 26/ 9 18 3
”9 8’—6;‘5321 10,(”‘3—% M 9—""'—>::W
J————P T——1Z

(11-15):
Friends | City . Modes of

Transport

P Chandigarh | Train

Q Raipur Train

R Dehradun Car

S Bengaluru | Aeroplane

T Jaipur Car

11. (5) Q travelled to Raipur by Train.

12. (5) S-Aeroplane is correct combi-
nation.

13. (3) R travelled to Dehradun by
Car.

14. (3) Rtravelled to Dehradun.

15. (2) Raipur - Car is not correct.
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16.

(11 Cc
2 A
3 G
4 B
5 E
6 F
7 D

17. (5) From both the statements

18.

19.

L has three children.
(5) From statement I

Asha's birthday may be on 21st,
22nd, 23rd or 24th.

From statement [1

Asha's birthday may be on 24th,

25th.....

From both the statements

Asha’s birthday was on 24th

(3) From statement I

F A D E

e v o 4 d

6 + 1 + 4 + 5

From statement 11

F A D

i L L
4

6 + 1 +

16

E
KA
+ 5 = 16

20. (2)

slngln;;appreclablc—)- col Ll].)

| dancing | dood

->mln

singing .'mdldam:in_l{l - lip mnp_ E

The code for ‘good’ is ‘min’.

(21-23) :

| St)moiogy Top

| Education

B N o el

| Accountancy
English

F‘conomlcs

J Bollom

21. (1) The books on English, Econom-

ics and Psychology are between
the books on Accountancy and
Hindi.

22. (3) The book on Economics is in

23. (3)

between the books on English
Psychology.

English

bsychology

Hindi |
Saociology
EC(]HOIT[_iEE}_ n)

Education
eepuancy |

(24 -

24.

8

29) :

(i) All flowers are petals — Uni-
versal Affirmative (A-type)

(i) Some pens are erasers — Par-
ticular Affirmative (I-type)

(iii) No bed is boat — Universal
Negative (E-type)

(iv) Some beds are not boats —
Particular Negative (O-type)

(5) All flowers are petals.

\

All petals are boxes,

A + A = A-type of Conclusion
“All flowers are boxes™.
Conclusion II is Converse of it.

All petals are boxes.

\

All boxes are buildings.

A+ A = A-type of Conclusion
“All petals are buildings”.
Conclusion II is Converse of it.

All boxes are buildings.

\

All buildings are trucks.

A + A = A-type of Conclusion
“All boxes are trucks”.
Conclusion I is Converse of it.

(2) Some pens are erasers.

\

All erasers are desks.
I + A = I-type of Conclusion
“Some pens are desks".
Conclusion II is Converse of it.

(1) Some dresses are unlforrns

\

All uniforms are clothes,
I+ A = I-type of Conclusion
“Some dresses are clothes”.

All uniforms are clothes.

\

All clothes are materials.

A+ A= A-type of Conclusion
“All uniforms are materials”.

bome dresses are clothes.

\

All clothes are materials.

I + A = I-type of Conclusion
“Some dresses are materials”.
Conelnsinn |is Canverae af it

27.

31

8

8

(5) Some stems are trees.
o ;
All trees are forests.
I+ A = I-type of Conclusion
“Some stems are forests”.

Some forests are roads.

All roads are petals.

I + A = [-type of Conclusion
"Some forests are petals”.

(4) All the four Premises are Par-
ticular Affirmative (I-type).

No Conclusion follows from two
Particular Premises.
Conclusions I and 111 form

_Complementary Pair. Therefore,

either I or Il follows.
{(4) All tables are beds.

No bed is boat.
A + E = E-lype of Conclusion
“No table is boat".

Some boats arc lakes.

All lakes are ponds.

I + A = I-type of Conclusion
“Some boats are ponds”.
Conclusion [l is Converse of it.
@M WDI A Q

$ A = b e

# % 4 2.8 #

- Condition (i) is applicable.

MmMA M P W QU

Y F I T T

* # 6 % © %
Condition (ii) is applicable.

Bs MR Z F A

+ L1 4 ld

‘8 # 7 9 s @
Condition (iii) is.applicable.

@R M S P A K
AR R I S
7 ¥°@ 6 8 T

Condition (i) is applicable.
@Q F P K U Z
G bde G
©® 8 6 3 5 @
Condition (i) is applicable.
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1

35. 3 K D M
o

R S 1
1 1l
2 4 # 7 @ 3
Condition (iii) is applicable.
38. (3)

| Consonant| Number| Symbol |

Such combinations are :

(7@} [Kzz]

37. (1) 8th to the left of the 13th from
the left means 5th from the left,
i.e., R.

38. (2) According to question the new
sequence would be :

QRTS!UFACEG'HWK

10th from the right end

30, (2) 9257285 859
=200 280 0
T +6 J +6! F +6 *
40. (1)

LVowel | Conscmami Consonant ]

There is no such combination.
41. (4) 973 = 793; 825=> 285;
461 = 641; 592 = 952;
789 = B79
Lowest number = 285
42. (2) 973 = 937; 825= 852;
461 = 416; 592 = 529;
789 = 798
Lowest number = 416
4-1=3
43. (5) Third highest number = 789
Lowest Number = 461
Difference = 789 - 461 = 328
44. (2) Third highest number = 789
Sum=7+8=15
48. (1) 973 = 379; 825 = 528;
461 = 164; 592 = 295;
789 = 987
Second lowest number = 295

48. (3) In each subsequent figure the
leftmost design moves to the
rightmost position and the design
which moves to the leftmost posi-

. tion gets inverted. 3

47. (4) In each subsequent figure the
top design moves to the bottom.
The line segment with arrowhead
is inverted after every two figures.
The line segment with curve is

inverted in each subsequent fig-
ure. The third design is inverted
in a set order in each subsequent
figure.

48. (2) The big angle rotates through
90° and 45° anticlockwise alter-
nately while the small angle ro-
tates through 90° anticlockwise
and 180° alternately.

49. (5) In each subsequent figure the
smaller design move along the line
segments and after three figures
the designs get inverted.

B0. (1) After every two figures one new
design is introduced at the upper
left corner arid the designs move
respectively one-half and one step
in anticlockwise direction after
being rotated through 90° clock-
wise.

956 Qit_j:a B
W =
= 9159-256 _ g?
= Ql3.34 _ g7

51. (4) 97

#?=13.34
6500 486
)0 o L
B2 B2~ To0xss "

53. (2) 146.65?21 + 72 = 732.2921
= 72 = 7322921 - 146.6521
= 585.64"

= ?.= /585,64 = 24.2

576
B54. (1) —*,i;"xll'-ﬂ- = 8208

7o 576 x114 s
=77 T8208
55-(4)?:528+66=8

25
56. (1) 'gx?=6265

6265
= 7= ——"=1253
5
« 42 x 42 x 26
87.(5) ? = —6-.3_— = 7280

B68.(2) ? =384 x 12 x 2 = 9216
59.(5)?= —=—=

60. (2) ? = /2704 x /2209
=52 x 47 = 2444
61. (3) 7387 - ? = 3763
= ? = 7387 - 3763 = 3624
62. (4) ? = 3584 + 4440 = 8024

850x36 592x?
6.4 =50 *"00 - 20

592x? 50 - 306 = 444
= "ton /o0 ~300=
444x100 .

T 592

2650x64 320x40
100 100 -
= 1696 + 128 = 1824

65. (4) ? = 486 + 80 - 59 = 507

=¥ T=

64.(1)? =

66.(2) 227 y2 . 162.4
TR
162.4 x 36
= ———=32
P 1827 o

67. (i 7« 1908 _og
0(1) - 36 =‘2

68.(3) ? = 56.21 + 2.36 + 5.41 + 1.5
-21.4 = 44.08

32065 , _ a6
1006 o &,

69. (5)

= 208 + ? = 686
= 7 = 686:+:208 = 478

L

b

83250 " 7 .
70.(2) —5—£74 % 25
acdivasd
83250
= =4
T T

» {3F .--
71.(1) ? = [7744 = 88
Px 35 Wi
72. (3) 100 =242.55
HE
242.55x100 653
35 -
73. (5) ? = 1256 + 4813 + 765 = 6834
74.(1) 88 + 72 = 169
= 72 = 169 - 88 = 81

2170
35
=432 + 62 = 494
76. (1) Let the number be 3x, 4x and
5x respectively. :
S3x+ 5x=4x+ 52 = 4x =52
52

=—=13
= X P

.. Largest number
=5x=5x13=65

=7=

75.(1) ? =432 +
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v

729 - 625)

=93l2=P[ 625

312x 625
104

Principal x Timé x Rate
v - 100

=P= = Rs. 1875

g 1875x2%x 8
T 100 _
78. (3) Let the breadth of the original
rectangle be xcm.
- Length = (x + 7) cm.
According to the question,
xXx+7)=(x+7-4) (x+3)
=2 +Tx=x2+6x+9
=x=9 :
*. Perimeter of original rectangle
-2(x+7+.x1 4x + 14
=4 x9+ 14250 cm.

79. (3) Let the number be 10 x + y
where x < y.-

= Rs. 300

-

LAx+y=12 - (i)

and 10y + x- 10 x- y =54
=2y-x=6 "0 :
Adding equations (i) and (ii),
y=9 :

From equation [i}, x=3

». Number = 39

..(ii)

- X
80. (4) Let the original fraction be “y‘ ‘

L 2x=y+2
=2x-y=2

x+3 2

‘and, 57

=3x+9=2y+6

= 3x-2y=-3 ...(ii)
By equation (i) x 2 - (i), we have
4x-2y-3x+ 2y =4+3
=x=7

From equation (i),

14-y=2

=y=14-2=12

2 vl

7

12
Note:itis proper tosolve such a
question by oral calculation tak-
ing the alternatives into consid-
eration.

Orlginal fraction

81. (2) Let the number be x.

W, e
- 3;vc+1

4x 2x
e 2N D
s 8

12x —10x
=T LIB

10x15

=10

=75

=x=

82. (4) Total cost price
=200 x 10 = Rs. 2000
Total selling price = 12 x 195

‘= Rs. 2340
... Profit per cent
2340- 2000
= ———— %100 =
2000 X : 17%
83. (1) The pattern-of the number se-
ries is :»

25+ 1x9=25+9=34

34+2%x9E34 + 18=52
52+3x9=52+27=79
79+4x9=79+36=115

115+5x9=115+45= —
84. (4) 72 = 144 x 49

~?= Jl144%x49=12x7 =84

85. (3) Second even number

=—=84
3

. Required sum = 82 + 86 = 168
886. (1) Saving percentage

= (100 - 55) % = 45%

If the income of Ajay be Rs. x,

then . 29XX _ 52000
R -S00
27000 x 100 e
= x= T:RS.GOOOO

- 87. (5) The word ‘CRISIS’ consists of

six letters in which ‘I' and ‘S’ come
twice each.

. Number of arrangements

6! 6x5x4x3x2x1
= 21217 2x2 =iag

88. (1) Area of the remaining region

22
= (40 x 40 2z x14 x14) sq. metre

= 1600 - 616 = 984 sq. metre
89. (4) Let the breadth of the rectangle

be x metre.

~. Length = 3x metre

_ 27540 _
S XX BE730 -
= x2=25
= x=5 .
-~ Perimeter of the rectangle
=2(8x+X9=8x
= 8 x 5 = 40 metre
. (2) Decimal equivalent of each

fracti £ 16735
raction : = 1.6 5

= 1.25
Pl

91.(5) Let the present ages of

‘Chetana and Shikha be 5xand 7x
years respectively.

After 7 years,
5x+7 11
7x+7 14

5x+7 1

x+1 2
=11x+11=10x+ 14
=x=3
. Required difference
=7x-5x=2x=2x3 =6 years

. (3) M,D; = M,D,
= 13 x36 =18 xD,

13x 36
18

=D,= = 26 days

45 5
88.(3) = X" =75.46

p '75.46X7.2401
e T

=r= /2401 =4.9 cm.

. -Circumference of the circle

=2nr= 2>(-2_T_?—X4.9

= 30.8 cm.

www.examrace.com



94. (1) Ratio of the equivalent capitals

of Girish. Vijay and Ankush for 1

month

= 45000 x 12 : 9 x 60000 :
6 x 80000 ‘

45 x 12:9 x 60 : 6 x 90
i 2 i |

.~ Girish's share

1
= Rs. {E x 15500]
= Rs. 5500 )
95. (2) Required average age

42 + 49+ 56 + 63 + 35
5

245
R 49 years

‘88. (1) Part of the tank filled in 1

11
minute = - 10 20 40

-. Hence, the tank will be filied in
B minutes.

97. (5) Required value

3450 x40 x 50
= T100%100 ~ Rs. 690
98. (2) Amount received by each per-
586700
. 2D
= Rs. 23468
99, (3) Total possible cutcomes

son =

= 2 — e — 1
Ca = 190
Total favourable outcomes

=7¢, x18¢, =7 x 13 =91

91
. Required probability = '1 90

100. [4] Data are inadequate.
1386. (2) Alphabetical order of words :
5. Rapacious
l
4. Rapidly
E B
2. Rappel
{
1. Rapport
&
3. Rapture

137. (4) Alphabetical order of words :

3. Shrew
{

1. Shriek
L

4. Shrimp
l

2. Shrink
4

5. Shrivel

138, (5) Alphabetical order of words :

4. Candour
1 L% )
1. Canopy
4
5. Cantonment
_ 2 :
3. Canvas
i
2 Canyon

13%. (3) Alphabetical order of words :

* 2. Instalment *
4

4. Instead
d

3. Instill .
1

* 1. Instinct

Jode
5. Instruct

140. (1) Alphabetical order of words :

2, Parcel .-
4
3. Parched

|
-

1. Pardon
L
4. Parent
4

5. Parish
14% (4) B
1

39'
142.(2) G
{

8
143.(1) s
&

o
144.(5) V
AL

7
145.(3) F
i

5

e - o T o SIEN U S IR
DEZ TV~ DWW TN &<
B LN DO O T
WEPR WO ECZN DO 2
GO EC U O O
NECCAETREWD 200

148. (3) The news item is related to
Science & Health. '

147.(2) The news item is related to
Social Issue.

148. (4) The news item is related to

‘Sports.

149. (1) The news item is related to
Politics.

150. (5) The news item can be classi
fied into Miscellaneous.

151. (2) The elephant was lonely

152. (1) To declare that whoever had
that particular dog would be pun-
ished

153. (3) He missed his friend the Dog

154. (1) He sold the dog to an unknown
man for a price

155. (5) The Bond of Friendship

156. (5) The elephant was very dear to
the king.

157. (4) He liked the taste of the rice
being fed to the elephant

158. (4) He ran back to his friend the
elephant -

1589. (3) Only (A) and (B)

160. (1) Only (A)

161. (5) The meaning of the word Ex-
tract (Verb) as used in the pas-
sage is : lo obtain information
money etc. oﬂen by taking it from
somebody.

Hence, the words"extracted and
received are synonymous

162. (3) 'T‘hemeamng of the word Dec-
laration (Noun) as used in the
passage is ; a writlen or spoken
statement: *

Hence, the words declaration and
announcl{ment are synonymous,

163. (4) The meaning of the word Keen
(Adjective) as used in the pas-
sage is : strong or deep.

Look at the sentence :
He took a keen interest in his
grandson'’s education.

Hence, the words keen and deep
are synonymous. :
164. (1) The meaning of the word Re-

sist (Verb) as used in the pas-
sage is : to refuse to accept some-
thing and try to stop it from
happening;oppose; to use force to
stop something from happening.
The idiom Give in means : to ad-
mit that you have been defeated
by somebody/something.

Hence, the words resist and give

. In are antonymous.
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165. (2) The meaning of the word Sepa-
rate (Verb) as used in the pas-
sage is : to divide into different
parts or groups; to move apart.
The word Unite (verb) means : to
join together with other people in
order to do something as a group.
Hence, the words separated and
united are antonymous,

166.(1) Idiom ‘be al your wits' end
means : to be so worried by a
problem that you do not know
what to do next.

Hence, ‘her wits’ end’ ehould be
used. 3

167. (5) No correction required

168.(2) 'The word ‘hard’ is an Adjec-
tive/Adverb. The word ‘hardly’
means : almost no, almost not;
used to suggest that something
unlikely. Hence, ‘hard pressed for
time’ should be used.

169. (3) Idiom ‘lie through your teeth’
means : to say something that is
not true at all. Hence, 'lied through
his teeth’ should be used.

170.(4) The group of words ‘wide
awake’ is a cOrrect idiomatic ex-
pression. i &

-

171.(3) The appropriate word should
"be : stage.

172.(1) The correct spelling is :

couples..
173. (2) The correct spelling is : icons.
174. (5) All correct
175. (4) The correct spelling is : oppor—

tunities.
176.(2) B 177.4D
178.(5 E 179. (1) A
180.(5) F

181. (2) Replace group of words ‘cover
the distance from the road to the
point’ by ‘cover the distance by/
along the road to the point".
Look at the sentences :

He was walking along the road
when he was attacked.
it takes about five hours by road.

182. (3) Replace group of words ‘the
necessary (Adjective) of pursuing
pedce’ by 'the necessity (Noun) of
pursuing peace’. '

183. (2) The sentence  shows a past
event. Hence, it is proper to use
Simple Past. Hence, replace
group of words ‘visit an orphan-

~age’ by ‘visited an orphanage’.

184. (1) Here, 'In accordance with/Ac-
cording to a new study’ should be
used. It is a correct idiomatic Ex-

. pression.

188. (5) No error

188 (1) The structure of a sentence in
Present Perfect Tense is
Subject + have/has + V, (Past
Participle)

Hence, ‘The ‘administration has
concluded’ should be used.
187.(3) Neither ..... nor is a correct
connective. Hence, ‘neither the
Centre nor the state initiated

steps’ should be used.

188. (4) Here, ‘but a lot more remains
to be understood (V,)’ should be
used.

189. (2) Here, 'to explore pros and
cons of should be used.

190. (5) No error 191.(5) travelled

192. (3) heard 193.(2) find
194. (3) placed 195.(1) top
186. (1) morning 197.(4) result
198. (2) felt 199.(4) sensitive
200. (5) knew
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